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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q.1

Ans

Q2

3mm#ﬁv§ﬁﬁmmaﬁsﬁaﬁrmm%?

2
How much does one need to add to E to obtain %‘?
1

v
X2,
<3
Xy s
&Y ¢ JeF-3MHTa (Problem Figure) & 1% 3cax-Thfaal (Answer Figures) &
¥ vs # wfeafed 81 38 Ica-ampia Sl & 72

oo w
o |5

Problem Figure

1

Answer Figures

B4 IVIX

A B C D

The given Problem Figure is embedded in one of the given Answer Figures. Which is that
Answer Figure?

Problem Figure

1

Answer Figures

B4 IVIX

Question ID :9864493022
Status :Answered

Chosen Option :2

Question ID :9864494081
Status :Answered

Chosen Option :2
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Q3 fafiveer et gamr A aTe et B Few PR e # & w8 ¥

wA.E. | gl | gffor | 9d | afew | sew
1 A 40 |37| 35 27
2 B 6 |26| 76 86
3 C 83 |71| 4 21
4 D 1 |7 3 11

aiferesT & el & R X =faf@d aeT & 9 &3

géf B = &Y ¥ g9g 1T " Sl

Parties and the seats won by them are listed in the following table.

S.No. |Party | South | East | West | North

40 37 35 27
6 26 76 36
33 71 4 21

o [ LI D | =
gl |

Based on the given data, complete the following sentence:

Party B won the largest number of seats from the
3(‘ HI

| North
CIEEr
Kz, West

EC)

?‘\"3, East
glayor
K-4‘ South
Q4 2017 & 3ANF-IRT AORF TRYE (0T 3e.a.4d) @ e o

TEAsr & ganEed 9% Ay R @ gEAfaa B mare

Ans

‘Which Indian chief minister was awarded the ‘Transformative Chief Minister Award’ by

US-India Business Council (USIBC) in 20177
BEICIEECIECY
?{1, Naveen Patnaik
F TgdE T
5. K. Chandrashekhar Rao

Ans

Question ID :9864494126
Status :Answered
Chosen Option :1

Question
D :9864492357

Not Attempted and Marked

Status ‘For Review

Chosen
Option :

2125



Eedar
<3 Siddaramaiah

g, AT
¥ 4. Chandrababu Naidu
Q3 7@ 3N & TIA F{ St WHE ¥ Tafag @1 ¢l Question ID :9864493684

Status :Answered
Chosen Option :4

PIE|I|O

1 2 3 4
Select the letter which does NOT belong to the group.

PIE|I]O

1 2 3 4
Ans Kﬂll 2

<, 4
x5, 3
vy 1
Q6 frdr oY avg & TR e ar aifoeiier avg & 38 o1fa @ arfasfer @« @ Question ID :9864493199

Status :Answered

gfeHaT Fgenar g- Chosen Option :2

The tendency of undisturbed objects to stay at rest or to keep moving with the same
velocity is called:
EE]

x 1. force
HAScH

> inertia

LIl

?("3‘ velocity
T

K-4‘ momentum

Q7 farafaf@a # & $ia & urg 33 I 737 9= & Ty gfaferar 78 F § 2 Q“esigf9864493311

Not Attempted and Marked

Ans

‘Which of the following metals does NOT react with cold or hot water? Status

o ‘For Review
Ans JraARp Chosen
/& |. Potassium Option :
FiomH
Kﬂz. Calcium
TegHETH
)
V5 Aluminium
afETa
K.4, Sodium
Q.8 Question ID :9864493885
Status :Mar}(ed For
Review
Chosen Option3
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7T F T FuF A G TS FFE F AT PA-T FTAA FHET T
HTEROT T ¢l

e

T Al HEIAS H U B § i SHH UHATT &I Fseh-guesT H aF AL 1T

S 9 915 o T o7

FejHn.
1. 98 AT W= § & 78 38% 9¢ Fr sedr o)
2. 9 AT W & fF S99 3T @y 76

Consider the argument and decide which of the given assumptions is/are implicit.

Argument:

A mother is crying in the hospital as her only son died in a road accident while driving his

bike.

Assumptions:
1. The mother thinks it’s her son’s fault.
2. The mother thinks that God is not with her.

FIA HFA 2 HTEIT HAT &

7<1 Only assumption 2 is implicit

A A 1 HFEIOT HLaT §

7<, Only assumption 1 is implicit
T N IFAT 1 AT LT ¢ A T Er 2

« 3 Neither 1 nor 2 is implicit
A 1 3 2 @ & argEor wa €

7<4 Both 1 and 2 are implicit

Q9 T§ 2020 FT HolST Fidd W TY & THTH 22
The calendar for the year 2020 will be the same for the year:

Ans | 2040

<5 2076

V'3 2044

<4 2096
Q10 ¥y FieT & T STFATSS § ST 3F o [IY-W &R F A s qfafhar w1 82
Metal oxides which react with acids as well as bases are called:
ST HTFHTES
|, Basic oxides
HFEANT HTFETSE
K'z‘ Acidic oxides
G TS
3. Neutral oxides
TrRI e aEE

« 4 Amphoteric oxides

Ans

Q.11

Question ID :9864492574
Status :Answered
Chosen Option :2

Question ID :9864493212
Status :Marked For Review
Chosen Option :4

Question ID :9864492816
Status :Not Answered
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I x2 + kx + k = 0T FIS gl gl &f ar k & AT o7 # T e
HTETUT T2
If x> + kx + k = 0 has no solution, then the value of k will satisfy:

k=4

X k<4
k>4

KXo k>4
0<k<4

W3 0<k<4
k>_4

Xa k>—4
Q12 16 g T Fr 18 A F 9w 12 9T F =F @A W oTHES g

FH F A T F30F wF 3w FE F24 A F aR_RF s FE FF
AT i & v fanae gost $r srEegerar g

A piece of work can be done by 16 men in 8 days working 12 hours a day. How many

Ans

men are needed to complete another work, which is three times the first one, in 24 days

working 8 hours a day?
22 F‘T

Ans N
~ 1. 22 men

24 98
=

¥ 24 men
ZSW

KI3, 25 men
23 Tv?ﬂ'

K-4, 23 men
Q13 15 wealr 2018 #r AW g1 18 ¥a, 2019 & Fi7 &1 &= gem?

15t February 2018 is a Thursday. On what day will 18% April 2019 fall?
S EIEIE
=
<, Friday
THAT

-
<, Thursday
orfeamT

'3 Saturday
THEAR

]

<4 Wednesday

Chosen Option :--

Question ID :9864492449
Status :Answered
Chosen Option :2

Question ID :9864493034
Status :Answered
Chosen Option :2

Q14 2017 & YHINIT AT 30 3U=arq W IR 36 Bfer 1 orges Question ID_98644922()1

HlT 32

Who is the author of the Indian English Novel ‘Sita: Warrior of Mithila’ published in
20177

T AT
K-l. Robin Sharma

3ferer Fardr
+» Amish Tripathi

Ans

Status :

Not Attempted and Marked
‘For Review

Chosen__
Option :
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?{’4. Chetan Bhagat
QIS #rr faw a1v o Fodl & @, o Ru ow o & 96h § @ o & 3ma #: Question ID :9864493682

Status :Answered
Chosen Option :2

Problem Figure

e

Answer Figures
A B C D

Problem Figure (S2a-3Tehfa)
Answer Figure (3cl-3THid)

From the given four figures choose the correct water image of the below figure.

Problem Figure

e

Answer Figures

Qg

Ans ?{’1. B
v, D
<3 C
K4 A
Q16 37 e &1 99 H{ o AFATeaT =BT & RFv & o F&ar g20ar 2 Question ID :9864494011
2 Status :Answered

Chosen Option :4

Select the option that represents the number of triangles in the following figure.

Ans & 4
2.3
~<3 6
V¥4 5
Q.17 Question ID :9864494160
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ma'e?rmg Hmﬁﬁmﬁaﬂﬁﬁﬂmm%| Status :Answered

Chosen Option :4

N,

Select the correct set that represents the following Venn diagram.

Ty, e, sleex
Ans
<1 Males, fathers, doctors

sleey, AT, T
)('2‘ Doctors, human beings, cows
){'3. Cat, toys, girl
TR, TR Ha, AfET =
', Office boys, government employees, educated person
QI8 p> g7 FEH BT UAHF TN 8, & P ¥ 92 9o3s Uelcqs quiteh NHTar Question ID :9864492604

. R . Status :Answered
AT TET3AT & AT & & 7 for@r 51 gear g1 ar P & Chosen Option :1
‘P’ is the smallest positive integer such that every positive integer N greater than ‘P’ can
be written as a sum of two composite numbers. Then ‘P* is:
Ans ?{’1. 10
.?(2, 3
vs3 11
K46
.19 Y estion ID :9864494029
QY e av B @t w@r e & @ g w:Y Qu

Status :Answered
Chosen Option :1

Ans
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PP A
Q20 oo JERUT &g 71 x 10* Hz 7 3mgfed 3 3x10° #Aex 9fy fes FHrafa & aar g Question ID :9864493104
. e . Status :Answered
F g@IT Far %l TG HT H@Téﬁ:ﬁ'% Chosen Option :4

A broadcasting station transmits waves with a frequency of 71 x 10* Hz and a speed of
3x10® m/s. The wavelength of the wave is:

418.8 HieY
X1 4188m
324.6 HET
<, 3246m
208.4 HET
<3 2084m
422.5 #HeY
¥4 4225m
Q2! g BT Uh THr 2 T H AT Tl g1 Teh o19g ¥ AT 8 F FROTTH FI 3l Question ID :9864492492

Status :Answered

2. T WA T A 8| T F T Y wE e T F @rel Y T 7 Chosen Option :1

Ans

A pipe can fill a sump with water in 2 hours. Becaunse of a leak, it took 2 g hours to fill the
sump. The leak can drain all the water of the sump in:
g U
4 1. 8 hours
11 5
Kfz. 11 hours
15 5
K'3. 15 hours
6 TS
K'4. 6 hours
Q22 far=atafag o Gus 6r ggdr & Question ID :9864493407

Status :Answered
Identify the odd one out from the following: Chosen Option :3

7 arg

r.4 | Alloy
Ol

X2, Milk
STl

V'3 Water
ag

=2

Ans

Ans

< 4. Air
Q.23 Question ID :9864494273
Status :Answered
Chosen Option :1
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& TS TEAT AT W IFIEUT HEAT FH AT |

4,9, 20, 44, 7

Select the number missing from the given number series.

4,9,20,44,2
Ans ?(1.100
v, 95
3. 90
x4 80
Q24 Xaﬁraﬂ?maﬂ‘r‘rg@, Y Fgar g, "X & & A F vHAT 9T F 97 8

T Y X & gl

Pointing at X, Y says, “X is the son of the only son of my mother”. Then Y is X’s
RIREY

e }
Ans .
~ 1. Father-in-law

frar

> Father

TS

KI3, Brother
alarl

?'('-4‘ Grandfather
Q25 .4 ?’.g_‘)‘z.’haneﬁ‘ DAMEND F'OL 58RO 2o

The essential organs in a flower for reproduction are:
GEEDAD DBOT ZDINEFID
Ans )
/< the sepal and petal

FH50 S0do oS aan
', the stamen and pistil
L) EIFAD 0B es0ccE B0
/<5 the petal and pistil
CE£E08a0 dudoin S0
2("4. the sepal and stamen
Q2 pH A # 7 ¥ 14 # # g5 ey Frmer wfafafe s &
The pH value increase from 7 to 14 represents a:
H" 3ma= |igar 7 gfa
K.l. increase in H™ ion concentration
OH ¥ |gaT # i
¥ increase in OH- ion concentration
H* 3mae digar & &
K-3. decrease in H™ ion concentration
OH I Higar H FAT

Ans

K-4, decrease in OH- ion concentration
Q27 9 TH(D SeaarO0 DV GHEOTP LBOID LT SRoH?

‘Which permanent tissue makes a plant hard and stiff?
Ans

Question ID :9864493908
Status :Answered
Chosen Option :2

Question ID :9864493077
Status :Answered
Chosen Option :2

Question ID :9864493330
Status :Answered
Chosen Option :2

Question ID :9864493255
Status :Answered
Chosen Option :4
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Q.28

Ans

Q.29

Ans

Q.30

Ans

Q.31

Ans

Q.32

Ans

RPN AN Pl

#<, Parenchyma
FaE0L TS0

<, Collenchymas
£90030°

7<3 Aerenchyma
Iy (L 5ETI00T°S

+ 4 Sclerenchma
sin 20° 4 Lrecos 30° _ " Question ID :9864492877

1+ cosz0® sinzo® ’ Status :Marked For Review
Chosen Option :2

sin 30° 1+cos:—]0“=q
1+ cos30° sinzo®
1

v, 4

<3 2

x4 3

X, 94 99 & 3o} T § 3R W 141 3% Fe &1 I v w A F Question ID :9864494021

Status :Answered

T 4 3% fw aa € 3t v 799 3caw & T 1 3% wEr Aar g ar X Chosen Option :1
AT 4T 1T aed Seadl @ wEA gl

X attempts 94 questions and gets 141 marks. If for every correct answer 4 marks is given,
and for every wrong answer 1 mark is deducted, then the number of questions wrongly
answered by X is

v, 47
2. 40
X3 57
X4 45

DS T DA: Question ID :9864493136

. Status :Answered
Growth hormones function: Chosen Option :1

D58 DN DOLPOBOTa)
X1 always as growth promotors

DO AN @058 s e
X, always as growth inhibitors

€T DDA DOFODOD)
/< 5 rarely as growth promotors

8 A Q0BG DOSFOROTY BT A
DRSS @SB

4 sometimes as growth promotors and sometimes as growth inhibitors

I8 OIET ¥ I HEAT i U1 ¢ TH 435 H FAlSel T Teh 0T o1 91od gielT 87 Question ID :9864492560

Status :Answered

The least number to be added to 435 to make it a perfect square is? Chosen Option :2

.?(-1‘ 3

v, 6

.?'(.3. 4

?(-44 8
6561 <hl a?ﬁ?ﬁ?-l' T E'TJTI"? Question ID :9864492743

LY

Status :Answered
What is the square root of 65617 Chosen Option :4

<1 79
<o 77
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Q33

Ans

Q.34

.?(3, 89

vy 81
At fRT 71T At & T@Er A 3t a8 Aot R wual @ wla @ MQ“ES}E’%SM@%M
FT THEINT FT T ITeld BT IET %l gtlit)lslz I;Answered
Option :
e

F$ o 3H T FE E| P ot Haw dT FE § Fo A AT

ey
1. g ofr a9 3H AL I
2. ®E off A9 "o 7L B
3. $T HA 3H &
4. gaft TT A B

Consider the given statements to be true and decide which of the conclusions logically
follow(s) from the statements.

Statement:
No mango is an orange. No orange is an apple. Some mangoes are apples.

Conclusions:
1. No apple is a mango.
2. No apple is an orange.
3. Some oranges are mangoes.
4. All apples are mangoes.

Faor fswd 1 @ 9T 8 W@ 2
#, Only conclusion 1 follows

Faer fawd 2 @ gTer 8 W@ 2
', Only conclusion 2 follows

Faer foswy 2 3R 3 gt F aTeT & W@
5 Only conclusion 2 and 3 follow

Faol TSy 1 AT 3 & UTeled & W& &

X4 Only conclusion 1 or 3 follow

Question ID :9864493888
Status :Answered
Chosen Option :3
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40 | 37| 35 27
86
83 | M 4 21
D 1 7 3 11

O|m| X
)]
()
(3]
~
()]

Blw|N| =

The Party which won the highest number of seats is

Parties and seats won
Serial | Party | South | East | West | North

No.

1 A 40 37 35 27

2 B 6 26 76 86

3 C 83 71 4 21

4 D 1 7 3 11
Ans &1 D
x5 C
v¥; B
?(-4 A

Q33 %l:r.m! meeT 9T AR ¥ 3 AT of & ved & 3caR & & v A a7 Question ID 9864494103

Status :Answered

HiT HT q’ﬂ‘lﬁr %'I Chosen Option :2

g G9d P, Q, R, S @ur T 54T ulga & @2 & 9ifd & AT & &l &7

Tl

1. T & 9= 33X Q gl
2 PARTHF A H S &l

Consider the given question and decide which of the following statements is sufficient t
answer the question.

Five people, P. Q. R. S and T, are standing in a line; who is in the middle?

Statements:

1. Qis tothe left of T.

2. Sisin between P and T.
Ans X 1.

12/25



Q.36

Ans

Q.37

Ans

Q.38

Ans

Q.39

Ans

Q.40

FUA 1 3holl & 3W & YT HT 3ok &l H HETH & e HU 2 3kl &

39 & U & 3o} ol H A F&r gl

1 alone is sufficient while 2 alone is not sufficient to answer the given question.

A ar FUT 1 3R AT € FUF 2 3W F T F IoW & H TEHA £

«', Neither 1 nor 2 is sufficient to answer the given question.
<3

YT 2 3eholl & 3 & UL T 3ol &l A WEIH & e U 1 3feholl &

3W & U & el & H WEH Al gl
2 alone is sufficient while 1 alone is not sufficient to answer the given question.
FeT 1 3R FAT 2 Sl & W F 9 H 3l &I H WA B

<, Both 1 and 2 are sufficient to answer the given question.

HER TWeg & Watad oA % v sequfa 92 &1 999 #:

BEAK : EIFQ :: SAIL :

Select the missing term from the related pair of letter clusters.

BEAK : EIFQ :: SAIL :
1. VERN
v, VENR
3. RENV
4. VREN
576 T TEHS T § 2

‘What is the square root of 5767
W24
.?(.2, 26
X3 34
X4 36
foraer WeT # T 4400 =TT Fr 8% I T W T 4576 B STE0ET, a1 Tg Tohgia

ST HIATN Galfoid glar e

In what time will ¥ 4400 become T 4576 at 8% per annum interest compounded half —
yearly?
23§
/< 2years
139
<5 1year
7HE
K-3. 7 months
6 ATE
¥ 4 6 months
T FFG H 3fha Ao 2 170 AR REa AEa ? 130 8, e A Aa A

The rate of discount on an article whose marked price is ¥ 170 and selling price is ¥ 130
is:

K1 22.45%

7o 24.26%

3, 23.60%

¥4 23.53%

Question ID :9864493923
Status :Answered
Chosen Option :2

Question ID :9864492663
Status :Answered
Chosen Option :1

Question ID :9864492546
Status :Not Answered
Chosen Option :--

Question ID :9864492548
Status :Answered
Chosen Option :4

Question ID :9864494067
13/25



ﬁﬁ'ﬂ(" aﬂ'ﬂﬂ' J-ﬂTﬁ'Uﬁ'&I' J |'%Hﬂﬂﬁwmﬂ Sta'tus:Answered
afes &7 & HFEOT L %I Chosen Option :4

Hiel:

T 935 ol gl Fo Cela @R HAG F

I F

1. $& “oe 925 gl
2. T fegrdr #sigy oy ¥

Consider the given statements to be true and decide which of the conclusions logically
follow(s) from the statements.

Statements:
Some carpenters are plumbers. Some plumbers are daily wage labourers.

Conclusions:
1. Some plumbers are carpenters.
2. Some daily wage labourers are plumbers.

Fael w1 ATEOT AT g
K-l. Only conclusion 1 follows.
Fael w2 HFHIOT LT B
2("2. Only conclusion 2 follows.
a1 AR T & 2 HgEr wr g
K-34 Neither 1 nor 2 follows.
1 3t 2 g&t argEor F E
4 Both 1 and 2 follow.
Q41 sryfares e wRUT F argat B FE W @ T 2 Question ID :9864493533

Status :Answered

Metals are placed on which side of the Modern Periodic Table? Chosen Option :2

Tt 3R
¥ Left side
grft 3T
X, Right side
Fadr afea
X3 Top row
forrelr afefa
K.4, Bottom row
Q¥ Fie @ 9RAT T=F WHE F FIH 957 396 T &7 Question ID :9864492108

Status :Answered
Which Indian state is the largest producer of Soyabean? Chosen Option :1

AT 92T

«'| Madhya Pradesh

Ans

Ans
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feamaer wear
7<> Himachal Pradesh
3T 9eer
7<3 Arunanchal Pradesh
YT T
<4 Andhra Pradesh
Q43 raly 2018 W, AT FU F AT 7T F W FhaT B2 Question ID :9864492174

Status :Not Answered
As of February 2018, who is the India-born CEO of the Nokia company? Chosen Option :~

FFATUTe &g &9
7<1 Ajaypal Singh Banga
HeT A=l
?{"2. Satya Nadella
e
«'; Rajeev Suri
gex R
< 4 Sundar Pichai

4 29 § i T UGy FARIET g9 F 3RS AW Y Upia F R oy vy Question ID 704493288

Status [Not

TR G &% @y THRAT ¥ 2 Answered
) Chosen Option

Which of the following glows with special colour depending on the nature of gas in the
fluorescent tube?

RIGEE

21 Helium
CollaAT

> Plasma
- =R gua-
7<3 Bose-Einstein condensate

HECIEC]

X, Hydrogen
Q45 3§ 2017 # @ 9Ty goer I+ 7 & e Uz vvivae g & Oy Question ID :9864492333

Status :Answered

FEIRT & T H AFEA 99T = & v 35 3@ Har arr Chosen Option :1

Which Indian tabla player won the Grammy Award for his collaborative music with ‘The
Silk Road Ensemble’ group in 20177

ST gl
Ki, Zakir Hussein
RFar Rrar
7<, Rimpa Shiva
TET T
«'; Sandeep Das
TeTer WHEET
2('4. Yogesh Samsi
Q46 208 2008), 5", SobreeS” D& DB1AM Eraroddo BocdB? Question ID :9864493298

Status :Answered
Chosen Option :4

Ans

Ans

In a plant, which of the following is converted into seed?
Ans
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CDlelo-lowble)
< ovary
éu"ﬁo
X, stigma
dwan
X5 style
-gmebasuéomo

¥4 ovule
Q47 TF aqre =?
One Watt = ? ‘
1 #Arex ufa s

X1 1m/s

Ans

1 grEhel Ufa Tehs
#, 1 Pascal/sec

1 301 9fd aes
X5 lerg/sec

1 33T i dehs

v 4 1]Joule/sec
Q48

Question ID :9864493502
Status :Answered

Chosen Option :4

Question ID :9864494063
Status :Answered

Chosen Option :4
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i B 3ca-3F T (Answer Figure) & 1% Wea-3{S (Problem Figure) #r

TEY guoT WAt &2

Problem Figure

2l

Answer Figures

(|2

Which of the Answer Figures is the correct mirror image of the given Problem Figure?

Problem Figure

P F

Answer Figures

D

=

A B C
Ans X B
x5 C
<3 A
v, D

Q49 37 Pyt &1 & 9%e A1 & o ¥ (2, 4), (- 3, - 1) 3 (5, 3) Rw gw

ar:

The area of the triangle whose vertices are given by (2, 4), (-3, — 1) and (5, 3) is:

20 F9T SHEAT

<1 20 sq. units

10 9 SwHEaT

', 10 5q. units
7 T AT

<3 7 sq. units

Ans

D

Question ID :9864492855
Status :Not Answered
Chosen Option :--
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14 97 SwHSAT

<4 14 5q. vnits
Q50 B ¥ Question ID :9864492579
gel EFI‘ Status :Answered

Chosen Option :1
36 —[18 — {14 — (15-4 = 2x 2)}]

Solve the following:

36 — [18 — {14 — (15-4 =+ 202)}]
Ans ¥ 21

Xy 22

<3 23

4. 20
Q351 5442673314884743581 WitsT &, g% 3N & TAT U & a¢ W TN HEAT Questigtr;tli m‘;ﬁ;ﬁ%

HeT & %Z Chosen Option :1

In the series 5442673314884743581, the number that is sixth from the left of the seventh
term from the right is:
Ans ¥ 3
<2 4
<3, 1

Kﬂ4 7
Question ID :9864494130

Q.52
Il Q D Status :Answered
Chosen Option :3
1 2 3 4 5
6 7 8 ]

few oo el F & goiw 1 % v SR I9EeT e ofe e meE A
feenfoa frar s A & = wog oo # @ &l gl

> QQOR
AQHV

If three groups could be formed using the given figures only once, these groups would be

(1,9, 6), (3, 5, 7) 3% (2, 4, 8)
X1 (1,9,6),(3,5.7)and (2, 4, 8)

(2,9, 6), (3, 4,7) 3T (1, 5, 8)
75 (2.9,6),(3.4,7)and (1, 5, 8)

(1, 9, 6), (3, 4, 7) 3T (2, 5, 8)
V'3 (1.9,6).(3.4.7) and (2, 5. 8)

Ans

18/25



(1, 9, 4), (3, 4, 6) 31T (2, 5, 8)
K4 (1,9.4),(3,4,6)and (2, 5, 8)

Q.53 m JEI' @- FT T F90T IFNT %— ? Question ID :9864493449
Status :Not Answered
‘Which of the following salts is acidic in nature? Chosen Option :--
e AT FrEiee
¥'|_ Sodium Carbonate
HeARIET Herhe
5 Magnesium Sulphate
afzTd T
X3 Sodium Acetate
IHETATH BIEhe
/4 Ammonium Phosphate
Q3 3¢ fasheq &l TaT &Y, ST & 7S T JTo # Grell TAT G 37T Question ID 9864494237

Chosen Option :4

3811 99 S A L

Select the option that will correctly fit in the blank space in the given figure series.

oo [

LR

3811994} 39

Ans

i

55 ' : - tion ID :9864493561
Q35 T oI Wel H FaAT fohd T 3 HIEIT @it 82 Question

Status :Answered
The energy stored in a dry cell is in the form of: Chosen Option :4

aTforst T
/1 Kinetic energy
ufasr =
/<, Potential energy

AfEFrT F=r
3 Nuclear energy

@I fF Far

+ 4 Chemical energy
Q.56 Question ID :9864492818
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Ans



Ans

Q.57

Ans

Q.58

Q39 AT 2018 & THIFT Tsd HANH & Widleed WUl FaIR AR (TH.HLHL) &

Ans

Q.60

Ans

TN W AB.C3R D vaR & F saar silma 16 81 A 3T B =
AdraT 9.5 21 ¢ 3T D = 3itEa F=w EE e

Four numbers A, B, C and D are such that their overall average is 16. The average of A
and B is 9.5. The average of C and D is:

X1 215
X 23
X3 255
vy 225
Tl % TRRT F 2017 F g & BEAdT H 6RS o 5w 87 # g o

Which team did India defeat in the final of the 2017 Men’s Asia Cup Hockey to claim the
title?
FITeITeer
/<, Bangladesh
=T
.?(-2‘ China
IR
«'; Malaysia
arfeREdTe
#4. Pakistan
farafafad & & i acang el & @R & & T H & T Aar 9
Who among the following was NOT one of the ‘Nine Gems’ of Emperor Akbar’s court?
HIA-FAT Fool HILH
<1 Abu'l-Fazl ibn Mubarak
whR -
<, Fakir Aziao-Din
3THA el Q@
'3 Osman Ali Khan
=T AT A
< 4 Raja Todar Mal

IeTeT HiT ARGIT-3ATGERT 87

Which Indian-American is the chairman of the prestigious Federal Communications
Commission (FCC) of the United States as of March 2018?

AIH T
?("1. Neomi Rao

Aog o5
W', Ajit Pai

#rer Tt
2("3. Neil Chatterjee

AT I=r

K'4‘ Seema Verma

"D E M N" & @it 3R I coafeud Fi&F T @18 2qeg galed 97 SHeRT

AT 3eIT F2T e m:
If all the letters “D E M N™ are arranged to form a meaningful word then the last letter of
the word will be:

XM

Status :Answered
Chosen Option :4

Question ID :9864492299
Status :Answered
Chosen Option :3

Question ID :9864492093
Status :Answered
Chosen Option :2

Question ID :9864492425
Status :Not Answered
Chosen Option :--

Question ID :9864493779
Status :Answered
Chosen Option :4
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.?(.2, M
<3 E
¥4 D

QO fgw arv quT wHET F HETOT oA H Hquityd ug FH 94T ST

RAMA : MARA : SITA :
Find the missing term for the related pair of letter clusters.

RAMA : MARA :: SITA :
Ans X SIAT
<, TIAS
v3 TISA
24 TSAI

Q62 el oftayr # fagga wag fras qamr w@a giar 22
What enables an electric current to flow in a circuit?
qiferere $r aify
?{"1. The motion of positrons
SoleRalal ST A
> The motion of electrons

=ggieT I Afey

Ans

Kj, The motion of neutrons
giatar & Aty
r.4 4 The motion of protons
Q.63 FfEr ABCD WWE@?? at cos?A — cos®B — cos2C + cos®D T HTeT FT ZF11?

If ABCD is a Cyclic Quadrilateral ,then the value of cos®A — cos?B — cos?*C + cos®D is:

Ans .?(.1. -1
¥ 1
3.2
.?(-4‘ 0
Q64 fordl wehel 3Igfcd & AT 1 AT FHgl Al 8

A sound of single frequency is called a:
o=
<1 Pitch
A
¥, Tone

A
73 Note

)

K.4, Hertz

Ans

Q.65

Question ID :9864493746
Status :Answered
Chosen Option :3

Question ID :9864493325
Status :Answered
Chosen Option :2

Question ID :9864492556
Status :Answered
Chosen Option :4

Question ID :9864493503
Status :Answered
Chosen Option :2

Question ID :9864494259
Status :Answered
Chosen Option :4
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Ans

Q66 60 FT 15 %
15% of 60 is 45% of

Ans

Q.67

Ans

Q.68

Ans

A o for T sl & @ 9ode 7 g ue FAE e & 3gERor
2, 30 feT & wua &t & B B & Ry 71w 927 Rea (?) #F 95 g

zl

101
38
35

43

15

56

34

184

A

Assuming that the numbers in each of the following figures follow a similar pattern, select
the option that can replace the question mark (?) in figure B.

B

101
38

35

43

56

34

_ A B
.?(_1. 127
.?‘(_2‘ 136
<3128
v, 142
Question ID :9864492746

Status :Answered
Chosen Option :2

% 45% & sUaT gl

1. 30

v 20

<3180

<4, 40

ar urzq A 3T B fadr @relr T o Faer 183t 27ae A s g gl 9w C

R a7l T @ 45 T H WO W T § TG s 3T ST 74T =l @ gl

EHE H =& ¢l Wrell oY, 98T A AR C #r =1 a1 731l $o el & 18
BT A F Fg HX G T AR asw B #r =l R T 3§ WeR SR s
# FoT 55 O¢ 1 959 B F e O Famr am?

Two pipes A and B can fill an empty cistern in 18 and 27 hours, respectively. Pipe C can
drain the entire cistern in 45 hours when no other pipe is in operation. Initially, when the
cistern was empty Pipe A and Pipe C were turned on. After a few hours Pipe A was turned
off and Pipe B was turned on instantly. In all, it took 55 hours to fill the cistern. For how
many hours was Pipe B turned on?

X150

W) 45

X3 27

4. 30

afE 7w R T F dT F 87 F 12 & Igad A Fenfoa B
ar em F g 39 FeEr
If T 87 was divided between James and Radha in the ratio 1 : 2, how much money did
Radha get?

.?(_1, T 57

K_z. T 58

<3 T59

Question ID :9864492811
Status :Not Answered
Chosen Option :--

Question ID :9864492946
Status :Answered
Chosen Option :2
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Q89 ATEETETS (MasterCard) & HET s HAFI AT srewet (2018 W) ST §? QueStié)tr;tllllz 2116;:13248
As of 2018, who is the CEO and president of MasterCard? Chosen Option :1
AT g &9
Ans «'| Ajaypal Singh Banga
e Fgeartorar
X 5. Waris Ahluwalia
CUNE: S
(3 Darsh Singh
qaTsiia (g
4 Prabhjot Singh
70 & o A 3 AN TGS et M [ ST L& S 0 FeIgled 31 A1 e e Anewered

¥, Ot ¢ Tz & YIRS B AToT ST T AT F e At ¥ fuifia e Chosen Option :1
T 87

If I'is the current through a wire and e is the charge of an electron, then the number of
electrons crossing in ¢ seconds will be given by:

Ans ¥y It/e
Ko, Ite
K_3, e/Tt
Xy Iet
QI Ew 91T aoeT &r al'l?l'qﬁ? ¢ HR FAIC TF SHH 3o} Gl & [l Toleaaforiaa Q1 oiMosea493702
FUAT A T P gITT /| Status Answered
Option :

aﬁu?&rﬁ»‘na&ﬁﬂargcrz‘r?

Y
1. IIATT H TS J9 ar T 25 I o 2l
2.aﬁmrﬁag;rsr‘r1974ﬁﬁa§ézﬁmﬁmﬁ35maﬁr%|

Consider the given question and decide which of the following statements is sufficient to
answer the question.

What is the birth year of Mr. Rajesh?

Statements:
1. At present Mr. Rajesh is 25 years younger to his father
2. Mr. Rajesh’s sister who was born on 1974 is 35 years younger to his father
. w1 3R FUT 2 gt gIeT §
ns
+'1. Both statements 1 and 2 are sufficient

haol AT 1 TATcT ¢ Adeh had HAT 2 39Icd ¢

<, Statement 1 alone is sufficient while statement 2 alone is insufficient

Fad FAT 2 GITCT & Adfeh had HUT 1 39Id &

<3 Statement 2 alone is sufficient while 1 alone is insufficient
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FUT 1 T FIST 2 TICT &
<4 Either statement 1 or 2 is sufficient

Q72 Tt it 37 TRAT] FeTHIA & HTUR R MG Tt 1 A By 1 &

The credit for classifying the elements on the basis of their atomic masses goes to:

v;

x4,

AT SoeaT

 John Dalton

tarer e ar st

_ Johann Wolfgang Dobereiner

sfad S

 Dmitri Mendeleev

John Alexander Reina Newlands

Q73 fofw Hifew & e @ forserd BT a0 o 1 THET 3ewor e §

ST

S deh Jaud 3 FA St e FH FE FIS, 9 HATH TG HA
Hehdrl

IGA- R
1. HHIET FT TET 3 T FEAT FIT P TAE & AT =gel

2.

e I FHATAT & TTH AT FIA FT Hellg a7 FATell =AMgv]

Decide which of the conclusions logically follow(s) from the information given in the
statement.

Statement:

A company cannot make profit unless both, management and employees work together.

Conclusions:

3,

X4,

. The workers should be advised to cooperate with the management.
. The management must be advised to cooperate with the employees.

1 3 2 At gEer = §

~Both 1 and 2 follow

el forsy 1 HegAYoT FaT &

~ Only conclusion 1 follows

Faer fhy 2 3TENOT AT 7

Only conclusion 2 follows

a1 AR T E 2 AT AT
Neither 1 nor 2 follows

Q74 S Hive F ES TAHE 2017 FiT F SET F ST °n

Which Indian won the 2017 French Open Super series tournament?

Ans )
1

L5 o

George Thomas

Question ID :9864493214
Status :Not Answered

Chosen Option :--

Question ID :9864493838
Status :Answered

Chosen Option :2

Question ID :9864492250
Status :Not Answered

Chosen Option :--
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e fear

¥ Srikanth Kidambi

ST g
7< 3 Dipankar Bhattacharya
HTATFAR T
X 4 Anilkumar Raju
Q75 g 20 fareliama 3T 50 fFelions ao= aTelr ar awgHt & @ AT F T Question ID :9864493380
' 2 Status :Not Answered
IEGGI Ex"‘l“'lT= ofg 37k d= {ﬂ' 2 #HeT 'eﬁ"’ Chosen Option :--

‘What will be the force of attraction between two bodies weighing 20 kg and 50 kg,
respectively, with a distance of 2 metre between them?

Ans X1 6.67 %1071 N
<5 16.675 X 10711 N
3 166.75 x 1071° N
X4 1667 x5°1ON
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